
                       
P.O. Box 190  
101 Main Street 
Parma, ID 83660-0190  
 
Phone:  208-722-5116 
Fax:   208-722-6012 
www.parmacompany.com  
 

 
 
 
 
    
                  

Prices - Effective: May 12, 2022 
 

 

           Standard Equipment 
 

➢ Three Sizes  
         – Standard, Mini, and Pro 

➢ Danish Style “S” Tines with  
         Reversible Points 

➢ Two or Three Tine Bars  

➢ Adjustable Leveling Bar  

➢ Adjustable Pipe Roller 

➢ Cat I /II Three-Point Hitch  
         Hook-Up 

➢ Optional Tongue for Use  
         without Three Point Hitch 

➢ Optional Coil Tine (Straight),  
         Conversation (Not Shown) 

 
 

 
All volume orders will be shipped upon availability.                                                                                                                                         

For fully assembled units picked up at the factory the following fees will apply. 
                                                       

                     
 
 
 

Sugarbeet Harvesting Equipment – Tillage Equipment – Onion Equipment – Arena Groomers – Water and Waste Pumps 
 

 
 
 
 
 
 

 
Part 

Number 

 
Description 

 
List 

530474 4’ Model AG411– 2 Bar $2,200 

530120 5’ Model AG513 – 2 Bar $2,400 

530200 6’ Model AG615– 2 Bar $2,600 

530310 7’ Model AG719 – 2 Bar $2,800 

530500 MINI 8’ Model AG821M – 2 Bar $3,000 

530082 8’ Model AG821 – 3 Bar $4,300 

530222 10’ Model AG1027 – 3 Bar $4,900 

530095 12’ Model AG1233 – 3 Bar $5,850 

530445 8’ Arena Groomer® Pro $7,500 

530555 Swivel Hitch Add On $470 

530190 Tongue w/Screw Jack $410 

530570 Transport Kit $325 

530238 Assemble 4’, 5’, 6’, 7’ $120 Net 

530239 Assemble 8’, 10’, 12’ $200 Net 

NOTICE: 
All prices are F.O.B. Parma, Id.  Prices are subject to change without notice.  
Amount charged will be the price in effect at the time of shipment. 
Units larger than 8’ may not be in stock.  Call for availability. 



 
 
 
 
 
 
 
 
 

Parts Price List – Arena Groomer 
Effective: May 12, 2022 

 

Part Number Description List 
521099 EyeBolt, 1/2 x 3 1/2  $         18.02  

521442 Pin, Safety Snap P7964   S0709  $          1.54  

521483 S-Tine, Heavy Duty (Use 525818)  $         39.57  

521484 Point, Chisel - Std S-Tine  $          4.13  

521485 Clamp, S-Tine, Standard, 8ft  $         16.25  

524366 U-Bolt, 1/2 x 3 1/16 x 4 1/16  $          6.69  

524884 Bearing, 2 3/16 4-Bolt Dbl Row  $       641.85  

530026 Plate, Clamp, 8ft  $          7.98  

530032 Leveling Bar Adjuster, 8ft  $         31.47  

530037 Center Support, 8'3 Bar  $         70.63  

530051 S-Tine, Std (USE 530117 w/Pnt)  $         36.43  

530052 Bolts, Elliptical Cultivator,  $          1.73  

530053 Pin, Lynch, 3/8 x 1-1/4 P791,  $          2.65  

530061 Roller Adjuster LH, 8ft  $         67.41  

530062 Roller Adjuster, RH, 8ft  $         67.41  

530064 Front Bar, 8ft  $       660.92  

530065 Rear Bar, 8ft  $       411.68  

530069 Side, LH, 8' 3-Bar  $       277.46  

530070 Side, RH, 8' 3-Bar  $       277.46  

530072 Side Bar, 8' 3-Bar  $         25.12  

530073 Leveling Bar, 8ft  $       361.71  

530074 Roller, Pipe, 8ft  $       964.25  

530083 Bar, Tine, 8ft  $       250.20  

530098 Bar Wld, Tine - 12'  $       306.06  

530099 Bar Wld, Cross - 12'  $       507.56  

530100 Tube Wld, 12' Hitch  $       814.51  

530102 Support Wld, Center  $       107.93  

530104 Bar Wld, 12' Smoothing  $       425.67  

530106 Roller Wld, Pipe - 12' Groomer  $       963.17  

530110 Pin, Top Link, 3/4 Category 5'  $          3.07  

530117 S-Tine Asm, Std w/point & bolt  $         36.54  

530121 Front Bar, 5ft  $       553.65  

530127 Rear Bar, 5ft  $       110.54  

530130 Bar, Tine, 5ft  $         56.95  

530131 Center Support, 5', 6', & 7'  $         32.98  

530140 Smoothing Bar, 5ft  $       157.54  

530142 Roller Adjuster, LH, 5', 6', &  $         70.25  

530145 Roller,  5ft Mini  $       527.20  

530148 Roller Adjuster, RH, 5', 6', &  $         70.25  



530154 S-Tine & Point Asm. Mini Grmr  $         26.71  

530155 Point, Mini Tine Chisel  $          5.98  

530156 Clamp, Mini S-Tine  $          5.95  

530157 Bolt, Ellip. Cultivator 8mm x  $          2.05  

530161 Adjuster, Leveling Bar, 5', 6'  $         15.86  

530189 Tongue Wld  $       305.08  

530201 Front Bar, 6ft  $       588.80  

530202 Rear Bar, 6ft  $       106.90  

530204 Tine Bar, 6ft  $         66.20  

530205 Leveling Bar, 6ft  $       172.31  

530206 Roller, 6ft Pipe Arena Groomer  $       540.20  

530223 Tube Wld, 10' Hitch  $       722.71  

530224 Bar, Rear  $       483.94  

530225 Bar Wld, 10' Tine  $       232.07  

530226 Bar Wld, Smoothing - 10ft AG  $       425.45  

530227 Roller Wld, Pipe, 10' Arena Gr  $       997.20  

530274 Hex Bolt, 1/2-13 x 1 1/4"  $          0.62  

530275 Hex Nut, 1/2-13  $          0.35  

530276 Lock Washer, 1/2"  $          0.35  

530277 Hex Bolt, 3/8-16 x 1 1/2"  $          0.43  

530278 Hex Nut, 3/8-16  $          0.26  

530279 Lock Washer, 3/8"  $          0.26  

530282 Roller Wld, 10"Smooth -10' AGr  $    1,107.46  

530290 Roller Wld, 10"Smooth, 8' ArGr  $    1,046.89  

530292 Point, STine Mini -Chrome Alloy  $         33.26  

530293 Point, STine Std -Chrome Alloy  $         47.03  

530311 Front Tube Wld  $       466.46  

530312 Rear Angle Weld  $       151.22  

530313 Tine Bar  $         74.39  

530314 Smoothing Bar, 7ft  $       189.20  

530315 Roller Wld, 7'  $       614.30  

530330 Blade Attachment, 5', 6' & 7'  $       330.00  

530335 Roller, 5' AG Solid Pipe  $       891.18  

530336 Roller, 6' AG Solid Pipe  $       992.56  

530337 Roller, 7' AG Solid Pipe  $    1,043.92  

530340 Squared Retainer Snap Pin, McM  $         22.55  

530371 Lock Nut, 3/8"-16 Steel Crimp  $          0.13  

530395 Bearing, 1" P.B. w/S.Screw  $         20.02  

530396 Angle Brace, 5' - 6' - 7' - 8'  $         51.77  

530398 Bearing, 1 1/2" PB w/Set Screw  $         36.85  

530400 Angle Brace, 8'  $         56.07  

530402 Angle Brace, 10'  $         60.27  

530403 Angle Brace, 12'-- Long  $         61.20  

530404 Angle Brace, 12'-Inner  $         47.57  

530405 Coil Spring Tine, 7/16" X 18 1  $         59.24  

530409 Bracket Wld, Large  $         45.05  

530410 Bracket Wld, Small  $         25.15  

530411 Bracket Wld, Small  $         35.50  

530412 Bracket Wld, Large  $         37.95  

530414 Tine Bar Control Arm  $         98.91  

530417 Ratchet Arm-Long  $         29.45  

530419 Ratchet Arm, Short  $         20.11  

530420 Leveling Bar Control Handle  $         16.64  

530422 Jackmount, Pivoting  $       113.15  



530428 Rear Roller Frame Mount  $       775.80  

530430 Leveling Bar, Pro 8'  $       315.00  

530439 Frame Wld, Arena Groomer Pro  $    1,645.00  

530446 Spring Keeper  $          3.45  

530448 Front Spring Tooth Tinebar  $       127.63  

530450 Front S-Tine Bar  $       158.78  

530451 Hitch Pin, 1"  $         31.77  

530452 Hitch Pin, 1 1/8"  $         53.08  

530485 Roller Wld, 14" Pipe X 8' - AG  $    3,937.00  

530487 Ratchet Arm, 2nd Row S-Tines  $         42.45  

530488 Ratchet Arm, 2nd Row Coil Tine  $         33.88  

530489 Front Hitch Wld  $       500.27  

530490 Rear Angle Weld  $       110.75  

530492 Tine Bar  $         68.04  

530493 Smoothing Bar, 8ft Mini  $       206.80  

530495 Roller Wld, Pipe - 8ft Mini  $       661.35  

530529 Jack, Rear Roller Lift  $       429.92  

530540 Coil Tine 1/4" Convrsn. 7' Min  $       286.00  

530542 Plate, Bolt Backing  $          3.87  

530545 Coil Tine 1/4" Convrsn 6' Mini  $       242.00  

530546 Coil Tine 1/4" Convrsn. 8' Min  $       319.00  

530548 Coil Tine 1/4" Convrsn 5' Mini  $       209.00  

530553 Swivel Hitch, Groomer Mount  $       236.25  

530554 Swivel Hitch, 3-Point Mount  $       236.25  

530555 Swivel Hitch Assembly - Mini  $       470.00  

530556 Tension Spring, Lee LE 075G 06  $         20.85  

530562 U-bolt, 3/8 x 1 1/2" x 1 1/2"  $          6.90  

530563 Tire, Transport -Mini-Groomer  $       129.25  

530564 Transport Plate  $         28.11  

530565 Coil Tine, 3/8" Convrsn., 5' M  $       297.00  

530566 Coil Tine, 3/8" Convrsn., 6' M  $       341.00  

530567 Coil Tine, 3/8" Convrsn., 7' M  $       396.00  

530568 Coil Tine, 3/8" Convrsn., 8' M  $       440.00  

530570 Transport Kit  $       325.00  

530573 7' Rear Roller Curved Blade  $       505.57  

530575 Coil Tine, 3/8" Kit 5' w/BARS  $       407.00  

530576 Coil Tine, 3/8" Kit, 6' w/BARS  $       462.00  

530577 Coil Tine, 3/8" Kit, 7' w/BARS  $       517.00  

530578 Coil Tine, 3/8" Kit, 8'M w/BAR  $       572.00  

530640 Coil Tine, 1/4" Kit 7' w/BARS  $       374.00  

530644 Depth Control Extension Plate  $         30.00  

530645 Coil Tine, 1/4" Kit 6' w/BARS  $       341.00  

530646 Coil Tine, 1/4" Kit 8'M w/BARS  $       429.00  

530648 Coil Tine, 1/4" Kit 5' w/BARS  $       308.00  

530650 Coil Tine, 1/4" Single-Angled  $         10.78  

530651 Coil Tine, 3/8" Single-Angled  $         17.33  

530660 6' Rear Roller Curved Blade  $       529.38  

530665 Coil Tine Kit, 3/8" Single 5'  $       286.00  

530666 Coil Tine Kit, 3/8" Single 6'  $       341.00  

530667 Coil Tine Kit, 3/8" Single 7'  $       396.00  

530668 Coil Tine Kit, 3/8" Single 8'  $       451.00  

530675 Coil Tine Kit, 3/8" 5' W/Bars  $       396.00  

530676 Coil Tine Kit, 3/8" 6' W/Bars  $       451.00  

530677 Coil Tine Kit, 3/8" 7' W/Bars  $       506.00  



530678 Coil Tine Kit, 3/8" 8' W/Bars  $       561.00  

534104 Pin, Hitch - 7/8" x 6 1/4" (Re  $         18.02  

534105 Bushing, Lift Arm, 7/8" ID x 1  $          1.97  

990700 Ratchet Jack  $       120.80  

5530282 Roller, 10' AG Solid Pipe  $       427.02  

5530290 Roller, 8' AG Solid Pipe  $       347.71  

5530335 5' Pipe Solid Pipe Roller  $       399.79  

5530336 6' Solid Pipe Roller  $       436.42  

5530337 7' Solid Pipe Roller  $       516.09  

5530540 Coil Tine 1/4", 7' MINI OPTION  $       110.00  

5530545 Coil Tine 1/4", 6' MINI OPTION  $       110.00  

5530546 Coil Tine 1/4", 8' MINI OPTION  $       110.00  

5530548 Coil Tine 1/4", 5' MINI OPTION  $       110.00  

5530565 Coil Tine 3/8", 5' MINI OPTION  $       165.00  

5530566 Coil Tine 3/8", 6' MINI OPTION  $       165.00  

5530567 Coil Tine 3/8", 7' MINI OPTION  $       165.00  

5530568 Coil Tine 3/8", 8' MINI OPTION  $       165.00  

5530665 3/8" Coil Tine, 5' MINI OPTION  $       165.00  

5530666 3/8" Coil Tine, 6' MINI OPTION  $       165.00  

5530667 3/8" Coil Tine, 7' MINI OPTION  $       165.00  

5530668 3/8" Coil Tine, 8' MINI OPTION  $       165.00  

 


